-U10

KM122 KM142 KM123 KM143




M8*65

M8*40

PTO




PTO

PTO540

PTO

PTO800

PTO

PTO




NO NO

1 |K4B-821200-0 LH) 1 | 16 |01812-08065 M8*65 2
2 |K4B-821300-0 RH) 1 | 17 ]01702-08000 M8 2
3 [AU3-351800-1 2 | 18 ]01980-08000 M8 2
4 [H11-725300-0 - @12*73 | 2 | 19 ]01155-50840 M8*40 2
5 102042-10038 R KS10 2 | 20 |K4B-822200-0 2
6 [P1J-591400-0 2 | 21 ]01402-10050 M10*50 | 2
7 _[02050-06040 @6*40 2 | 22 101012-10080 M10*80 2
8 [01012-12085 M12*85 T 2 | 23 101012-10030 M10*30 4
9 [01702-12000 M12 2 | 24 101500-10000 M10 8
10 |01500-12000 M12 2 | 25]01702-10000 M10 6
11 |K4B-821500-0 2 | 26 |K4B-822300-0 2
12 101812-08025 M8*25 4 | 27 |GO3-133900-0 2
13 101702-08000 M8 4 | 28 104150-06000 A-M6H 2
14 |K4B-821600-0 2 | 29 |A1W-515100-0 2
15 |K4B-821700-0 2 8 [ 30




